
DXD-BS028-OM

® Aluprof MB-SR50

Vor Montagebeginn bitte unbedingt die profilspezifischen 
Montagehinweise gemäß D+H Anwendungszeichnung beachten.

Before mounting, the profile specific mounting instructions in the D+H 
application drawings must be taken into account.

Avant l' installation, prière de respecter les instructions de montage 
spécifiques du profil selon les déssins techniques d'utilisation de D+H.

Antes de montar se deben tener en cuenta las instrucciones de montaje 
especificas del perfil en los dibujos de aplicaciones de D+H.

Przed przystàpieniem do montaýu na okreúlonym, konkretnym profilu 
naleýy zapoznaã siæ z instrukcjà montaýu i dokumentacjà technicznà 
D+H.

Ïåðåä ìîíòàæîì íåîáõîäèìî ïðèíèìàòü âî âíèìàíèå èíñòðóêöèè 
ïî óñòàíîâêå äëÿ äàííîãî ïðîôèëÿ ñîãëàñíî ÷åðòåæàì D+H.

Antes do início da montagem, por favor respeitar imperativamente as 
instrucoes de montagem espécificas dos perfís conforme o desenho de 
utilisacao da D+H. 

Før montagestart bemærk da venligst de profilspecifikke 
montageanvisinger i.h.t D+H´s anvendelsestegninger.

D+H Mechatronic AG • Georg-Sasse-Str. 28-32 • 22949 Ammersbek • Tel. 40-605 65 239 • Fax 40-605 65 254 • D- +49 +49 www.dh-partner.com

9
9

.8
8

1
.7

5
 1

.0
/0

1
/1

1
©

 2
0

11
 D

+
H

 M
e

ch
a

tr
o

n
ic

 A
G

, 
A

m
m

e
rs

b
e

k

Originalanleitung
Original instructions
Notice originale
Manual original

Oryginalna instrukcja
Îðèãèíàëüíàÿ èíñòðóêöèÿ
Instrução original
Originalanvisning

Te
ch

n
is

ch
e

 Ä
n

d
e

ru
n

g
e

n
 v

o
rb

e
h

a
lte

n
.

R
ig

h
ts

 t
o

 t
e

ch
n

ic
a

l m
o

d
ifi

ca
tio

n
s 

re
se

rv
e

d
.

To
u

t 
ch

a
n

g
e

m
e

n
t 
te

ch
n

iq
u

e
 r

é
se

rv
é

.
S

e
 r

e
se

rv
a

 e
l d

e
re

ch
o

 a
 r

e
a

liz
a

r 
m

o
d

ifi
ca

ci
o

n
e

s 
té

cn
ic

a
s

P
ra

w
o

 d
o

 z
m

ia
n

 t
e

ch
n

ic
zn

yc
h

 z
a

st
rz

e
ýo

n
e

.
Ï

ð
à

â
à

 í
à

 ò
å
õí

è
÷
å

ñê
è

å
 è

çì
å

í
å

í
è

ÿ
 ñ

î
õð

à
í
ÿ
þ

òñ
ÿ

M
o

d
ifi

ca
co

e
s 

té
cn

ic
a

s 
re

se
rv

a
d

a
s.

F
o

rb
e

h
o

ld
 f
o

r 
te

kn
is

ke
 æ

n
d

ri
n

g
e

r.

Für: / For: / Pour: / Por: / Dla: / Äëÿ: / Para: / For:

Für gegenüberliegende Montage 

For opposite mounting

Pour le montage en face  

Para fijación opuesto 

Dla montazu naprzeciw 

äëÿ ïðîòèâîïîëîæíîãî ìîíòàæà

Para instalação em face 

For montage modsat hængselsside

 

 

 

DE

EN

FR

ES

PL

RUS

PO

DK

® Schüco AWS 57 RO

® Aluprof MB-SR50

3
m

7 m

1

2

4

3

5

7

6

4

5

1

2

3x  M6x16  DIN-7984

2x  M8x25  DIN-603

2x  M8x20  DIN-603

4x  B8.4  DIN-125

4x  M8  DIN-985

2x  

2x  

1x  10x3 mm  

1x  10x55 mm  

2x  M6x20  DIN-7984

2x  M8x20  DIN-6912

3

5x  M6-30 R FK

2x  M8-31 R SK

6

7


